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the title page of the answer-book.
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e Please check that this question paper contains 11 printed pages.

¢ Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before attempting it.

¢ 15 minute time has been allotted to read this question paper. The question paper will be

distributed at 10.15 a.m. From 10.15 am. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

St famm (fgi=ee)

BIOLOGY (Theory)
freie gaa -3 52 ST 37 - 70

Time allowed : 3 hours Maximum Marks : 70

|rAT fdr
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General Instructions :

(i)

There are total 26 questions in five sections in the question paper. All questions
are compulsory.

(ii) Section A contains questions number 1 to 5, Very Short Answer type questions of
one mark each.

(iii)  Section B contains questions number 6 to 10, Short Answer type-I questions of two
marks each.

(iv)  Section C contains questions number 11 to 22, Short Answer type-Il questions of
three marks each.

(v) Section D contains question number 23, Value Based Question of four marks.

(vi)  Section E contains questions number 24 to 26, Long Answer type questions of five
marks each.

(vii)  There is no overall choice in the question paper, however, an internal choice is
provided in one question of two marks, one question of three marks and all three
questions of five marks. An examinee is to attempt any one question out of the two
given in the question paper with the same question number.

G ug - <h
SECTION - A
1. 9 379y ool T &Il § 2 1

What is biopiracy ?

2. THAlH STTERT SHCHAT Sl GHREd H o [T Teh [a1g S gerd T | 1

Suggest a method to ensure an anamnestic response in humans.

3. g HIOT % R U ST ST qurgAt i Fafd = gt § 2 1

State the fate of a pair of autosomes during gamete formation.

4, TR WEHR A TAR 9 H M.T.P. & o0 el W&t o ofl &f € | FHROT el §U S0h!
qfte T | 1

Our government has intentionally imposed strict conditions for M.T.P. in our country.

Justify giving a reason.
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5. e U T e STl Bl SH ohH W SHaieId ity (STaH o ferg & SR ey g
Qi o s o 3 % Tva feied ga ;

() g &
(i)  3fcrra-qd T FHel
(iii) 1

Rearrange the human activities mentioned below as per the order in which they

developed after the modern Homo sapiens came into existence during ice age :
(i) Human settlement
(i1) Prehistoric cave art

(ii1) Agriculture

us - g
SECTION - B

6. 3T IO o (HHl AT H &g A WX Paet Jpe @l < € |
(a) I% UEhe fhT HROT 3T g3 & 3R STeT St TTerl UR STl I TTa U 2
(b) T UERSH Sl UHATH % U T G T | 2
Plenty of algal bloom is observed in a pond in your locality.

(a) Write what has caused this bloom and how does it affect the quality of water.

(b) Suggest a preventive measure.

7. W(myconhizae)WWﬁaﬁWQﬁﬁWW%? 2

How do mycorrhizae help the plants to grow better ?

57/1/3 3 [P.T.O.

Downl oaded From : http://cbseportal . conf Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/
http://cbseportal.com/

CBSE

www chsaportal com

Downl oaded From : http://cbseportal . conl

8. UH URSIOH - Urd & WIET ISR S hIRTHeT § faeme wifvrmret @t fafay mer
T <l =/l T | 2

Mention the ploidy of the different types of cells present in the female gametophyte of

an angiosperm.

9.  FTAEE St TG HT T HISTT | 2
rera
frfotiae e o foreri Hewe i == HifT - 2
(@) BIX
(b) e
(c) & efafor
(d) @ Ry

Describe the structure of a nucleosome.
OR
Mention the evolutionary significance of the following organisms :
(a) Shrews
(b) Lobefins
(c) Homo habilis

(d) Homo erectus

10. TOEEAEAT S 9 I 9 SET A6 ST & o0 F2ieRoT 6 gite X 9iver & g 341 @
ANHRT BT € | gt Hitw | 2

“Growing spirullina on a large scale is beneficial both environmentally and

nutritionally for humans.” Justify.
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TSI
SECTION -C

11. Td 99 § 0 o7 & SR 981 9@ 9 a4 HeHM 5ol U {o S0 Jgd e o
TR B AT | 3 STMYFHF qhAIh I G AT qAT SHHT IO o HIT TG st
Ik TR =l |iar ST |eh | 3

During a fire in an auditorium a large number of assembled guests got burnt beyond
recognition. Suggest and describe a modern technique that can help hand over the dead

to their relatives.

12 (a) 3T OIS R e ?

(b) TR & IS % IR “TROT” % Hewdl Sl AR DT | 3

(a) What is inbreeding depression ?

(b) Explain the importance of “selection” during inbreeding in cattle.

13. p?+2pq+q? =12l aEAea & a9 & YR W 9 ST THioT s et S | 3

p? + 2 pq + g% = 1. Explain this algebraic equation on the basis of Hardy Weinberg’s

principle.
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14, ol Sita o IR gdr @ {6 T Fasid forg] § v 2197 [Urgd iy € | 39 g H 9
1Y T 7T TAETOT The €1 b TTaT & 2 3

During a medical investigation, an infant was found to possess an extra

chromosome 21. Describe the symptoms the child is likely to develop later in the life.

15. T YRS ATcTehl i TG ATHTh IS % 5¥d IART | 3

Draw a labelled diagrammatic sectional view of a human seminiferous tubule.

16. T el § FHYSHE 3R TS 36 T & | Tdeh 1 Th-Ueh ISRV (T | 37 g
giskaretl § 9T ST aell Ush SHHT 9T Ueh [auHdT Sd1ey | 3

Parthenocarpy and apomixis have been observed in some plants. Give an example of

each. State a similarity and a difference observed between the two processes.

17. difed JeA-3TaR 9 G (3{0Teh) o Wishiaa TAst e Wb WeTdl hid &, F0 shitsy | 3

Describe how do ‘flocs’ and ‘activated sludge’ help in Sewage Treatment.

18. Sg-UrEnfiTen & Fefatad s YiHesret #t s S

(a) Wiqee vergfeTes
(b) SA-TaERoT oo
(c) pBR322 ¥ aRuTH faeeh 3

Explain the role(s) of the following in Biotechnology :
(a) Restriction endonuclease
(b)  Gel — electrophoresis

(c) Selectable markers in pBR322.
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19. Bt HUE & i€l 9 HOLIT0T S Fel AUSIe-hie &l 7Y S & 2 GHAHT ad120 o Uar
FAEAE | 3

Why do lepidoplerans die when they feed on Bt cotton plant ? Explain how does it

happen.

20. helel Ueh Y8 TS ol HEddl ¥ HAHal § HeARET GlSiel o S{ia-2sh & g3y | 3

Show with the help of a flow chart only, the life cycle of malerial parasite in humans.

21, TR WV W Hehe o LTS bl AR MHeT Tehell € | 39 2 &l gt il | 3
et
Star-fafaear «gif e & el a9 SHRUT % 719 9d1ET 9 376! 9uH ST | 3

‘in-situ’ conservation can help endangered/threatened species. Justify the statement.
OR

Name and describe any three causes of biodiversity losses.

22, TaQeM-SIF-3cR &l U e o FeTe forar ST et =Rom 61 gend SifTT | 3

Write the steps you would suggest to be undertaken to obtain a foreign-gene-product.
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23.

Tug -
SECTION -D
YU YR 1 ST SR WX o g W7 Hl a1g ot feTgal g2l ol i oY sgd 3t
fafad & | 30 fefa & To 81 3TTe 3eTeh i RETaRT e Sl = “SHATRY, Frst 7
SRR SrsHH ol AT o | Siia-fas o fommedl 8 o A1 92 3 366 9 o %
fere smife foram &

(a) THAM S TSTET 3 TAT STAM i (TEcTITEd B &+ 3% T i e [T TR Hat 2
(1S T HRT SIT) |

(b) VAE-AE, UAF FNARI & 7T TH-Uh, Hl FeFd ¥, ARl & qvEr g el
URESATST Sl *GAT St == I |

Public all over India is very much concerned about the deteriorating air quality in large
parts of North India. Alarmed by this situation the Resident’s Welfare Association of
your locality organized an awareness programme entitled “Bury not burn”. They

invited you, being a biology student to participate.

(@) How would you justify your arguments that promote burying and discourage

burning ? (Give two reasons)

(b)  With the help of flow charts, one for each practice depict the chain of events that

follow.
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que - T

SECTION - E
24, UH UEU ol fFHH g H T USe o A i =dl HITT qeT SHb! T
HITT | 5

AT

(a) oI W ST H Uget X 918 § IeT9-Uh=Iehi0l & IR fHT 7T Teqolt F Wihiass
=T 3R b o foar i qfte fohg v et € 2

(b) ST URESAT I T HIST S, WHidh aROT & AR, S i (dferr) gr
T TR et & | @+1)=5

State and explain the “law of independent assortment” in a typical Mendelian dihybrid

Cross.
OR

(@) How do the observations made during moth collection in pre- and post-

industrialized era in England support evolution by Natural Selection ?

(b) Explain the phenomenon that is well represented by Darwin’s finches other than

natural selection.

25. (a) Vg T RES FAT LA & 2
(b) TFT SHUET % Y-S & dF FETs FHRI & A9 T8 3T T Y eAeIorehar

! Gl ST | (1+4)=5
AT
3N, TATERONT T WSAWRE gl el Warsti & a9 IRER & fore qaufera e
e Fanet  gfve ==t B | 5
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(a)

(b)

What is an age-pyramid ?

Name three representative kinds of age-pyramids for human population and list

the characteristics for each one of them.

OR

Discuss the role of healthy ecosystem services as a pre-requisite for a wide range of

economic, environmental and aesthetic goods and services.

26. (a)

(b)

©

(a)

(b)

(a)
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o f9 (capsicum) & FeT § TSR H 240 SiSTs & | wifchT 399 THT %ol Scdw=T
g & T et 180 Samerd aist Hisis & | 39 YR % UM o feiT STRaEr $ro
AT §T AT HINT |

U SHeqerd s § Ty & qiae i auiT ST | yoruieds & veet terad
REdT =i i & 2

TS UfSTEeqet trg o U S T SSTeIT T FTEH aRyuTaiS HiS[E & | S9 9T AW
JATeT T ufyorar i gan € | 1+3+1)

AT

AHET S HeAr Fell & Jidy o= #el W g § 2 Huted sie] % uiedT # s9
3901 B I % INEE T U SIS |

AT § SEEHIOLAT i TS5 Wb ekt Tl & 2 4+1)

A capsicum flower has 240 ovules in its ovary. But, it produces a fruit with only

180 viable seeds.

Explain giving a reason that could be responsible for such a result.
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(b) Describe the development of an endosperm in a viable seed. Why does
endosperm development precede embryo development ?

(c) Give an example of an angiosperm seed that has a perisperm. Name the part the

perisperm develops from.
OR

(a@) Where in the fallopian tube does fertilization occur in humans ? Describe the

development of a fertilized ovum upto implantation.

(b) How is polyspermy prevented in humans ?
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